Identify the asymptotes (horizontal and vertical) of each function. Then graph the function. State the domain and
range:

1
=21 of = 2% S C'”f '>
x ¥4
— B
e IX o) For x=-3 For x = -1
£ -3 s T
S qos - T
- -1 3 = —
Yo He { L T (-3) 4 (-2) 4
£t
\"—/o( -1 = .5 - | = 5 -
2
q-;'.hjl = ".5 - _i _ (
Ya L
711 [T T 1] = Ay -7 2
e R g
Pl i1
F F;r Xz -§ for vz -G
SR
> YRR gy =7
= g (-5)+4 (-e)tq
' RN S T
i H i | il K
: - e —I.S,,)
~ = L=
8 '1—__
VoA x==v (‘? =)
i—{__.ﬂ-. vz -

Piorg-d4,K
fz'f. Y:ﬁ-—, )‘K



